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AT 524D-00384015
A S ) R R B A
e s e

No. == fER | TIRIE é%@ No. A fER | TIR{E g@i
1 |2-(A-F7FM TEhIH e | 0.01 | 0.01 | 34 |{vE )77y PR | 0.01 | 0.05
2 [BHC (a, B, v, 8) T | 0.02 0.2 | 35 [4vi *hn7 TR | 0.01 | 0.01
3 |BPN R | 0.01 | 0.02 | 36 [9=33) P REEH | 0.01 | 0.02
4 |TCMTB AEH | 0.01 0.01 | 37 |za7° whi7’ AEH | 0.01 0.02
5 |XMC TR | 0.01 | 0.01 | 38 |thwani)y FHH | 0.01 | 0.01
6 774y FHH | 0.01 | 0.01 | 39 |rF4v TR | 0.01 | 0.01
7 |7y TR | 0.01 | 0.01 | 40 |17 47=vkz THH | 0.02 0.2
8 |74 AFhA AAEH | 0.01 | 0.01 | 41 [zp7=V7" y)x e | 0.03 0.3
9 [Ty~ V) =S} FW AR | 0.01 0.01 | 42 |zp7pe—} g | 0.01 0.01
10 |7V vRaprFw TR | 0.01 | 0.01 | 43 |1}7° mika AR | 0.01 | 0.01
11 [Thye—y TR | 0.01 | 0.01 | 44 |z})yV 7Y -0 TR | 0.01 | 0.01
12 |7) %VAbnt v T | 0.02 0.2 | 45 [z})hikn THH | 0.01 0.01
13 7199y TR | 0.01 | 0.01 | 46 |zF Fva) -y TR | 0.01 | 0.01
14 |7=nkz R | 0.01 | 0.01 | 47 |z avizv(a, B) RHEH | 0.01 0.1
15 [TAM)y AEH | 0.01 0.01 | 48 |zv/} AWI7VANT =} FHH | 0.01 | 0.01
16 |7978—k RAEH | 0.01 | 0.01 | 49 [#%yV 7 v AfEH [ 0.01 | 0.02
17 |7Yb Jo—i A | 0.01 | 0.01 | 50 [#%v ¥y R | 0.01 0.1
18 |7y pv7” A | 0.01 0.01 | 51 [#%4¥ Jurhy FHEH{ | 0.01 | 0.05
19 |7wb ®vAN7” R | 0.01 | 0.01 | 52 [#%#Iv ] 0.01 | 0.02
20 447" #x THH | 0.01 | 0.01 | 53 |[#%vhvk ¥y FH | 0.01 | 0.01
21 [IhVE FA AfEH | 0.01 | 0.01 | 54 [#Abz—h A ] 0.1 1
22 ¥ TzvaFu Rt | 0.01 0.1 | 55 [#Fy7wmin7zv T | 0.01 | 0.01
23 xFTNvb-p AR | 0.01 0.01 | 56 |hA ¥ AR | 0.01 0.01
24 |{)7zv%% (and oxon) AR | 0.01 | 0.01 | 57 |[h7=vxpe-y g | 0.01 | 0.02
25 V7" w7’ T | 0.05 0.5 | 58 [ )w REH | 0.1 1
26 |17 nfi7y A | 0.7 7 59 [Wv7zvb7)" vIFi Rk | 0.01 | 0.08
27 47" o V7™ A | 0.01 0.01 | 60 |7 nn 3} TR | 0.1 1
28 47" BA" VKX R | 0.02 0.2 | 61 [hwk vy REH | 0.01 | 0.01
29 7Y MIN VR AN AEEH | 0.01 0.01 | 62 [V 7z)F4v g | 0.01 0.01
30 4% ) RAEH | 0.01 | 0.05 | 63 [hwik 777 A | 0.01 | 0.01
31 U m7 K A ] 0.1 1 64 X4 nky7" zFN REH | 0.01 | 0.01
32 438 vag) -y T | 0.01 | 0.01 | 65 [FFmiz T | 0.01 | 0.01
33 3n vap) = an vy v | Rag | 0.01 | 0.01 | 66 [¥/¥v7ay Tk | 0.01 | 0.01
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BEHF 5524D-00384015

JE A T5 B R B B e B AR A P B
A=t ACREREER EITSERT

5 2

No. A FER | TIRME | sy | No. == FER | TIRfE | svefE |
67 |¥)973 P | 0.01 | 0.02 | 100 |[¥/nz—} AR | 0.01 | 0.01
68 [/t v R | 0.01 | 0.02 | 101 |V Jnviy} g | 0.05 0.5
69 |/73wmy R | 0.01 0.1 |102|v Jubiz RHH | 0.01 | 0.01
70 |IVIRVAATN i | 0.01 | 0.01 | 103 |V Je7=viy TR | 0.01 | 0.01
71 |Jeky by bAEvy AR | 0.01 0.01 | 104 |V Jm7 b5 -k AHEH | 0.01 | 0.01
72 |70)" )x=b EEH | 0.01 | 0.01 | 105 |V ey pFN | 0.01 0.1
73 |yuFT=vy R | 0.1 1 106 [V w3y TR | 0.01 | 0.01
74 |Jn7zs7y v FHRH | 0.01 | 0.01 | 107 |V AMkbv T | 0.01 0. 07
75 |70y FHH | 0.01 | 0.02 | 108 |V awkby  AMkY FEH | 0.01 | 0.01
76 |Jov72)v b R | 0.02 0.2 109 |V F4t W TR | 0.01 | 0.01
77 |J8p7 wy7° R | 0.01 | 0.02 | 110 |y=} vaFw TR | 0.01 | 0.01
78 |[JmysITy REEH | 0.01 | 0.01 | 111 |vre}p)v | 0.05 0.5
79 |/epThEviz T | 0.01 | 0.01 | 112 |yreky7” 7 F A | 0.01 0.1
80 |Jmii-ly” AN AEH | 0.01 | 0.01 | 113 [V 7xf3p RfrH | 0.01 | 0.01
81 |Jmht’ JiA e | 0.01 0.01 | 114 |V 7x)a}) -y Ak | 0.02 0.2
82 |Juut’ YERAFN THH | 0.01 0.1 | 115 |¥7mb)v TR | 0.01 | 0.01
83 |Juh7zFt W T | 0.01 0.01 | 116 [¥7M7=F3} AR | 0.01 0.01
84 |Jen7zv)y T | 0.01 | 0.01 | 117 |V IMI==hv FEH | 0.01 | 0.01
85 [Jei7=vt VA (E, 7) T | 0.01 0.05 | 118 [V 7k VA mY R | 0.01 0.01
86 |/h7 77k AR | 0.01 0.01 | 119 |¥7 map) -y AHEH | 0.01 0.1
87 |7uh7" n77h R | 0.01 | 0.01 | 1207 8y =k TR | 0.01 | 0.01
88 |7miA sy p RERH | 0.01 | 0.01 | 121 [vA wib)y TR | 0.03 0.3
89 |Jmnjany FHH | 0.01 | 0.01 |122 vy AEH | 0.01 | 0.01
90 |Jmp=pr7xy (CNP) AEH | 0.01 0.01 | 123 [va}) = AR | 0.02 0.2
91 |Jmut7” RERH | 0.01 | 0.01 | 124 |V 24pb)y R | 0.01 | 0.05
92 |Jmen v Vb RERH | 0.01 | 0.01 |125 Y ift v e | 0.01 | 0.04
93 |#)F4v REEH | 0.01 | 0.01 |126 |V 4wk’ vER(E, Z) RHgH | 0.01 0.1
94 [v7) 773 R | 0.01 | 0.05 127 [V 473 RAgEH [ 0.01 | 0.01
95 |71y Y AR | 0.01 | 0.01 |128 | pbx—} AHEH | 0.1 1
96 |v7)7zvA EH | 0.01 | 0.01 | 129 |V AV (B, 2) RAgRH | 0.01 | 0.01
97 |V7 /%A R | 0.01 | 0.01 |130[VAb)v AERHI| 0.01 | 0.05
98 |v ymv | 0.01 0.05 | 131 [V pt" A" b=} T | 0.01 | 0.01
99 |V xpT T g | 0.01 | 0.01 | 132 [¥57mi7=y AR | 0.03 0.3

(BAZ : ppm)
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B #24D-00384015
JEAE T K B R A S R A A R
et AbRERER A SERT

No. A KR | FIRE g@%@ No. BEEAS fER | TERME %@
133 |Ayzy7° A | 0.01 0.01 | 166 |M7Y &2 AR | 0.01 0.01
134 [At" 4 (A" JvvA D) | R | 0.01 0.1 | 167 [M)7V=} REEH | 0.01 | 0.05
135 [AE° p¥H3Y g | 0.01 | 0.01 | 168 [bMyI7) —n iR | 0.3 3
136 [AV7" nikA THRH | 0.01 | 0.01 | 169 [p)Fa) =i TR | 0.01 | 0.05
137 )7 33h AEH | 0.01 0.01 | 170 |p)7 %07 TR | 0.01 0.05
138 [f-n" vy THEH | 0.01 | 0.01 | 171 [}F)7 #A(DEF) | 0.01 | 0.01
139 |4 47Y" )7 g | 0.01 | 0.01 | 172 [} 7wbey TR | 0.01 | 0.05
140 |5 47—} e | 0.01 | 0.01 | 173 [NIMT)Y g | 0.01 | 0.05
141 [ {hny AfEH | 0.01 0.1 | 174 |M)7nkyAbut"y R | 0.2 2
142 [F7/07° )} R | 0.01 0.02 | 175 |MVmiarfy REH | 0.01 | 0.01
143 [F7~" /)" =0 TR | 0.2 2 176 |77° n7=) 4 R | 0.01 | 0.01
144 |77} ¥4 A | 0.03 0.3 | 1777 mn" 3H° A | 0.01 0.01
145 |F4V ANV7" T | 0.05 0.5 178 [=47)v AR | 0.01 | 0.01
146 [F4Y)7h T | 0.01 0.01 | 179 |=bpf—p{)7" nt" TR | 0.01 0.01
147 [F4~" /7 TR | 0.02 0.2 180 |zbr7zv Rt | 0.01 | 0.01
148 |FAAby THEH | 0.01 0.01 | 181 |/ wmv THH | 0.01 | 0.01
149 [F7m 30 R | 0.1 1 182 |JVIN3)" v TR | 0.01 | 0.01
150 |74t TR | 0.01 | 0.05 | 183 |n /87" }5) —u g | 0.01 | 0.02
151 |7hI7mnt” vikx REEHL | 0.01 | 0.01 | 184 | FF4Y M| 0.01 | N.D.
152 |7b73F)" -0 A | 0.01 0.01 | 185 |» FF4v4Fw TRt | 0.1 1.0
153 |7h7 v R | 0.01 | 0.01 | 186 [W7xv7 my)x FHeH | 0.01 | 0.01
154 |[7=V)e—l e | 0.01 0.1 | 187 [t 2)F7x T | 0.01 0.01
155 |77 3F) " -0 TR | 0.01 | 0.05 | 188 [t 7wp/)—n TR | 0.01 | 0.01
156 |77 Fyuv TR | 0.01 | 0.01 | 189 |t 7x/9)% At | 0.01 0.1
157 |77 7zvE° 51 R | 0.01 | 0.01 | 190 [t 7=v/})y TEeH | 0.01 | 0.05
158 |77} TR | 0.01 | 0.01 |191 [t~ r=p7 VL T | 2.4 24
159 |77~ V2 By TR | 0.01 | 0.01 |192 [t~ pikz R | 0.01 | 0.01
160 |7 A b/=S—4FW TR | 0.04 0.4 | 193 |t F/mabnt’y FHi | 0.01 | 0.01
161 |7 VAR AR | 0.01 0.01 | 194 |t 7/mikx R | 0.01 | 0.01
162 |7V7" by AEEH | 0.01 0.01 | 195 [t"7) #x FREH | 0.01 | 0.01
163 |77 $A R | 0.005 | 0.005 | 196 |b° 7)) i=b ARt | 0.01 0.1
164 [ M7y 4)-0 TR | 0.05 0.5 | 197 [t VF T=vFdy RigH | 0.01 | 0.01
165 | M7 Ay R | 0.03 0.3 | 198 [t )4~y Ak | 0.01 | 0.01

(E{Z : ppm)
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BRAF 5524D-0038401+%
JE A T B R B B e B A AR A P B
At ACREREER SEAT SRR

5 5 |

No. BEL fER | TIRRME | swe | No. B fE R | THRME | Hue(E |
199 |t°)7x/9)% e | 0.01 | 0.01 | 232 |77k YAi-h R | 0.01 | 0.01
200 [k )78} A | 0.01 0.02 | 233177 wizyy RERH | 0.05 0.5
201 [£° )7 Fhv7” AEH | 0.01 | 0.03 | 234 |79F4007° AREEH | 0.01 | 0.01
202 |t° )7 v¥y7zy A | 0.01 | 0.01 | 235 [7547 897" AFN e | 0.01 | 0.01
203 |t" ) 3pv7” T | 0.03 0.3 | 236 |774bt" W g | 0.05 0.5
204 (L VN 9TV (E, Z) TR | 0.01 0.05 | 237|790 =W A | 0.01 0.01
205 |t° Y SharFN e | 0.02 | 0.20 |238|7¥72)E YA R | 0.01 | 0.01
206 |t° n¥ny e | 0.02 0.2 | 239 |7¥Fvat) -y R | 0.01 | 0.01
207 [t v)w)" )y R | 0.01 0.01 | 240 [7W/ #%)=l AEH | 0.01 0.01
208 |747" p=) T | 0.01 | 0.01 | 241 [7vyb)%=b AEEH | 0.01 | 0.05
209 |7x3 342 AR | 0.01 | 0.01 | 242 |7b7) -N AREEH | 0.01 | 0.01
210 |[7=F)EW AFEH ] 0.01 | 0.01 | 243 [7Vb7=p AR | 0.4 4
211 |[7x=pnftv REEH | 0.02 0.2 | 244 |7WF) 7= i | 0.01 | 0.01
212 |7=/)%4=0 TR | 0.1 1 245 |7¥7 =y} T | 0.01 | 0.01
213 |7=/)%47" ny7" zFW TEH | 0.01 0.05 | 246 |7V7x))AnY AEEH | 0.01 0.01
214 |72 )%VhV7° A | 0.01 | 0.05 | 247 [7W7=vt N T | 0.01 | 0.01
215 |72)540v7° A | 0.01 | 0.01 | 248 [7W3mTysn" vFN R | 0.01 | 0.01
216 |72)7 V7" T | 0.1 1 249 |7} v A | 0.01 | 0.01
217 7000V (B, 2) TR | 0.2 2 250 |7° V#7 -l REEH | 0.01 | 0.03
218 [7x/738 v AHH | 0.01 | 0.01 |251[7 ny3ihy e | 0.01 0.01
219 |72/ mVER FAEH | 0.01 | 0.01 | 252 |7 nfiiz R | 0.01 | 0.01
220 |7z AWKFAY REEH | 0.01 | 0.01 | 2537 v~ ¥ ky7 e | 0.01 | 0.01
221 |7=VF4Y REEH | 0.03 0.3 | 254 |7 vn Ju—p TR | 0.01 0.01
222 |7V bz} TEH | 0.01 0.05 | 2557 an vy AR | 0.01 0.01
223|720 VY=h T | 0.2 2 256 |7° B/ =i | 0.02 0.2
224 |7Vt n¥yi-=h AREH | 0.01 0.01 | 257 |77 un" iz A | 0.01 0.01
225 | 707" a3y =N e | 0.01 0.01 | 258 |7" o vE yb e | 0.01 0.01
226 |7xv7" un })v TR | 0.01 | 0.01 | 259 |7 vk’ ap) -y At | 0.01 0.1
227 |7xV)7 47 7h FHH | 0.01 | 0.01 |260][7 st 4 3 T | 0.01 | 0.01
228 |7474 N | 0.1 1 261 |7 07z /%x TR | 0.01 0.01
229 |7 §)m=p Rk | 0.01 0.1 |262|7 sk 2k TR | 0.1 1
230 |7 47 =Fvh EH | 0.01 0.01 | 263 |7 wevi TEEH | 0.01 0.01
231 |77 4 3kA AR | 0.01 0.05 | 264 |7 upb)v A | 0.01 0.1
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BAF 524D-0038401%
JEA F R B A fh iR A RS
et dbPERER AT

No. EHEA R | TRRME é%% No. BEEA FER | TIRIE ﬁé;
265 |7 %7 F}1° AR | 0.07 0.7 | 298 |,F4hN7 R | 0.01 | 0.05
266 |7 8%7° vt =} TR | 0.01 0.05 | 299 |AF4 F4v g | 0.01 0. 02
267 |7° nEhATF I REEH | 0.01 | 0.01 | 300 [AhFvsml TR | 0.2 2
268 |7" nTharFN FREH | 0.01 | 0.01 | 301 [AFv72)v FreH | 0.01 0.1
269 |~Faty” i e | 0.01 | 0.01 |302|Ah3/Abet v (E, 7) Atk | 0.05 0.5
270 |~4Y" )y R | 0.01 | 0.01 | 303 |Ah77e-0 TEM | 0.01 0.1
271 |"¥47vhny g | 0.01 0.01 |304|AN7° ¥y AR | 0.01 0. 05
272 ["4YF7)" )2 TR | 0.01 | 0.01 | 305 =t A T | 0.01 | 0.01
273 |\ 7%V TR | 0.01 | 0.05 | 306 [ft vz THH | 0.01 | 0.01
274 |~ )¥fa-w AR | 0.01 0.01 | 307 |#7xFtyh FRERHI| 0.01 | 0.05
275 |~ Vhv R | 0.01 0.01 | 308 |A7xvt Wy xFW A | 0.01 | 0.01
276 [N VAR Y AR | 0.01 | 0.01 |309 |47 n=p TR | 0.2 2
207 |~ vaf) —u At | 0.01 | 0.05 | 310 |£//8}ikz THH | 0.01 | 0.05
278 [N v)ny AHEH | 0.03 0.3 | 311 [¥))=anV AR | 0.01 0.01
279 |\ ) Ixty7° FHH | 0.01 | 0.05 | 312 |E)%} Tk | 0.01 0.1
280 |~ v AFNT” T | 0.01 | 0.02 |313[)=any T | 0.01 0.1
281 |~ V7 ()Y TR | 0.01 | 0.02 |314 |Mxiey FHH | 0.01 | 0.01
282 | V7)Y AfrH | 0.01 0.01

283 |ty FiEH | 0.01 0.01

284 | Ap) A AR | 0.01 0.01

285 [FAF7E —h AR | 0.01 0.01

286 [fA7730 V(E, 7) R | 0.01 0.01

287 |fAry b A | 0.01 0.1

288 | /A RAEH | 0.01 | 0.01

289 [hvEFty R# | 0.01 | 0.01

290 |FV—} RFEH | 0.01 | 0.05

291 [v7F4v g | 0.01 0.1

292 [m7 b=k TR | 0.01 0.01

293 [Ahvn 4 TR | 0.01 | 0.01

294 [A)3W | 0.05 0.5

295 47052 FAgEH | 0.01 | 0.01

296 |14~ VR FTR 1Y TR | 0.01 | 0.05

297 [} 473V R | 0.0l 0.1
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(BT : ppm)



